



#### **CAMP SUMMARY: WEEK AT A GLANCE**

THIS IS AN OVERVIEW OF ALL SUMMER COURSES AT CAMP PATRIOT LISTED BY DATE, TIME, AND GRADE LEVEL. FULL COURSE DESCRIPTIONS ARE FOUND IN THE SUMMER CAMP GUIDE. VISIT WWW.METROCA.COM!

C	CAMP PATRIOT		ATHLETICS	HIGH SCHOOL FOR CREDIT
		—		 

CAMP PATRIOT AT CAMP LOUGHRIDGE

**WEEK 1: MAY 30 - JUNE 2** 

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	May 30 - June 2	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
Culinary Creations  Leann Cherry	May 30 - June 2	8:30 AM - 11:30 AM	K4-6th Graders	\$70.00
Briscoe Soccer Camp  Coach Curtis & Coach Briscoe	May 30 - June 2 (T,W,R,F)	8:30 AM - 11:30 AM	K-8th Graders	\$90.00
Rick Holmes Lady Patriot Basketball Camp  Coach Rick Holmes	May 30 - June 2 (T,W,R,F)	8:30 AM - 11:30 AM	9th-12th Graders	\$90.00
Purchased Lunch	May 30 - June 2	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
Creation Station  Leann Cherry	May 30 - June 2	12:30 PM - 3:30 PM	K4-6th Graders	\$70.00
Pat Foster Boys Baseball Camp Coach Pat Foster	May 30 - June 2 (T,W,R,F)	12:30 PM - 3:30 PM	2nd-8th Graders	\$90.00
Rick Holmes Lady Patriot Basketball Camp Coach Rick Holmes	May 30 - June 2 (T,W,R,F)	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Late Pick-Up	May 30 - June 2	3:30 PM - 5:30 PM	K4-8th Graders	\$75.00

#### **WEEK 2: JUNE 5 - 9**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	June 5 - 9	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
The Lazy Days of Summer Blair Peters	June 5 - 9	8:30 AM - 11:30 AM	K4-2nd Graders	\$90.00
Puppet Pals <i>Darlene Syuma</i>	June 5 - 9	8:30 AM - 11:30 AM	K4-2nd Graders	\$90.00
Lego Robotics for Kids Amanda Humphrey	June 5 - 9	8:30 AM - 11:30 AM	1st-5th Graders	\$90.00
Oh Sew Fun! Level 1 <i>Mary Huckett</i>	June 5 - 9	8:30 AM - 11:30 AM	3rd-12th Graders	\$90.00
CLOSED ctory	June 5 - 9	8:30 AM - 11:30 AM	3rd Graders	\$90.00
Bryon Flam Patriot Boys Basketball Camp  Coach Bryon Flam	June 5 - 8 (M,T,W,R)	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00

# WEEK 2: JUNE 5 - 9 (CONTINUED)

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
All Things Star Wars Sherri Easley	June 5 - 9	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
Apologetics (HS Credit)  John Lenschow	June 5 - 16 (Requires Registration for 2 Weeks)	8:00 AM - 12:00 PM on June 5th - 9th & 12:30 PM - 4:30 PM on June 12th - 16th	12th Graders	\$395.00
Purchased Lunch	June 5 - 9	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
Performing Patriots  Kyndal Hostetler	June 5 - 9	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00
A Seussical Summer <i>Malcolm McGuire</i>	June 5 - 9	12:30 PM - 3:30 PM	K4-3rd Graders	\$90.00
Messy Kitchen Science Shelia Fields	June 5 - 9	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Lego Robotics for Kids  Amanda Humphrey	June 5 - 9	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Oh Sew Fun! Level 2  Mary Huckett	June 5 - 9	12:30 PM - 3:30 PM	5th-12th Graders	\$90.00
It's CLOSED ISIC	June 5 - 9	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Monkey BusinessAn Improv Camp  Abby Phillips	June 5 - 9	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Bryon Flam Patriot Boys Basketball Camp  Coach Bryon Flam	June 5 - 8 (M,T,W,R)	12:30 PM - 3:30 PM	9th-12th Graders	\$90.00
Late Pick-Up	June 5 - 9	3:30 PM - 5:30 PM	K4-8th Graders	\$75.00

## **WEEK 3: JUNE 12 - 16**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	June 12 - 16	7:30 AM <i>-</i> 8:30 AM	K4-8th Graders	\$50.00
MCA Athletic Performance Center (For High School Baseball & Football) Coach Bearden & MCA Coaches	Begins June 12 - Ends August 4 (M,T,R,F); Excludes July 3 & 4	8:00 AM - 10:00 AM	9th-12th Graders	\$125.00
A Seussical Summer <i>Malcolm McGuire</i>	June 12 - 16	8:30 AM - 11:30 AM	K4-3rd Graders	\$90.00
Metro's Baking Champions  Kyndal Hostetler	June 12 - 16	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00

# WEEK 3: JUNE 12 - 16 (CONTINUED)

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Bryon Flam Patriot Boys Basketball Camp  Coach Bryon Flam	June 13 - 16 (T,W,R,F)	8:30 AM - 11:30 AM	1st-5th Graders	\$90.00
Cultivating a Servant's Heart  Amanda Humphrey	June 12 - 16	8:30 AM - 11:30 AM	1st-5th Graders	\$90.00
CLOSED anza	June 12 - 16	8:30 AM - 11:30 AM	3rd-5th Graders	\$90.00
God's Girls Anna Cunningham	June 12 - 16	8:30 AM - 11:30 AM	6th-8th Graders (Girls Only)	\$90.00
CLOSED	June 12 - 16	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
CLOSED	June 12 - 16	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
Beth Roe Girls Volleyball Camp Coach Beth Roe	June 12 - 15 (M,T,W,R)	8:30 AM - 11:30 AM	9th-12th Graders	\$90.00
MCA Athletic Performance Center (For All Sports Grades 3rd-8th) Coach Bearden & MCA Coaches	Begins June 12 - Ends July 27 (M,T,R); Excludes July 3 & 4	10:30 AM - 12:00 PM	3rd-8th Graders	\$100.00
MCA Athletic Performance Center (For All High School Sports Excluding Baseball & Football) Coach Bearden & MCA Coaches	Begins June 12 - Ends July 28 (M,W,F); Excludes July 3 & 4	10:30 AM - 12:00 PM	9th-12th Graders	\$100.00
Purchased Lunch	June 12 - 16	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
<sup>S</sup> CLOSED <sup>D</sup>	June 12 - 16	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00
Creative Writing for Kids  Kyndal Hostetler	June 12 - 16	12:30 PM - 3:30 PM	K4-5th Graders	\$90.00
Exploring Tulsa Blair Peters & Amanda Humphreys	June 12 - 16	12:30 PM - 3:30 PM	K4-5th Graders	\$100.00
Mike Jones Wrestling Camp  Coach Mike Jones	June 13 - 16 (T,W,R,F)	12:30 PM - 3:30 PM	K-6th Graders	\$90.00
Beth Roe Girls Volleyball Camp  Coach Beth Roe	June 12 - 15 (M,T,W,R)	12:30 PM - 3:30 PM	5th-8th Graders	\$90.00
It's All Greek to MeExploring the World  CLOSED  SHETTI Easiey	June 12 - 16	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Intro to LEGO Robotics Brian Cunningham	June 12 - 16	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00

# WEEK 3: JUNE 12 - 16 (CONTINUED)

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Keep Calm and Paint On	luno 12 16	12:30 PM -	6th-12th	¢100.00
Tegan Sevier	June 12 - 16	3:30 PM	Graders	\$100.00
Late Pick-Up	l	3:30 PM -	K4-8th	\$75.00
Late Pick-Op	June 12 - 16	5:30 PM	Graders	\$75.00

### **WEEK 4: JUNE 19 - 23**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	June 19 - 23	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
Metro Almighty  Kyndal Hostetler	June 19 - 23	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00
MVC Elementary Cheer Camp  Coach Kristy Covey	June 19 - 22 (M,T,W,R)	8:30 AM - 11:30 AM	1st-5th Graders	\$90.00
STEAM (Science, Technology, Engineering, Art, & Math)Arts & the Cosmic Connection Kristen Meyers	June 19 - 23	8:30 AM - 11:30 AM	3rd-5th Graders	\$90.00
Game Makers Jonathan Weed	June 19 - 23	8:30 AM - 11:30 AM	5th-12th Graders	\$90.00
Poetr CLOSED War	June 19 - 23	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
Summer Reading with Pebsworth  Kristin Pebsworth	June 19 - 23	8:30 AM - 11:30 AM	8th Graders	\$90.00
Purchased Lunch	June 19 - 23	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
Camping Fun Celeste Freese	June 19 - 23	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00
Camp Crayola Kyndal Hostetler	June 19 - 23	12:30 PM - 3:30 PM	K4-5th Graders	\$90.00
Yel CLOSED lip	June 19 - 23	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Write It Out: Calligraphy & Hand-Lettering Anna Katherine Annett	June 19 - 23	12:30 PM - 3:30 PM	3rd-6th Graders	\$90.00
Vocal Bootcampa Broadway Bootcamp  Abby Hobbs	June 19 - 23	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Time CLOSED tlet!	June 19 - 23	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
Mike Jones Wrestling Camp  Coach Mike Jones	June 20 - 23 (T,W,R,F)	12:30 pm - 3:30 pm	7th-12th Graders	\$90.00
Just DO Something! Darlene Syuma	June 19 - 23	12:30 PM - 3:30 PM	9th-12th Graders	\$100.00

# WEEK 4: JUNE 19 - 23 (CONTINUED)

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
World View (HS Credit) Ethan Roe	June 19 - 30 (Requires Registration for 2 Weeks)	12:30 PM - 4:30 PM	10th-12th Graders	\$395.00
Late Pick-Up	June 19 - 23	3:30 PM - 5:30 PM	K4-8th Graders	\$75.00

### **WEEK 5: JUNE 26 - 30**

WEEK 3. JUNE 20 - 30					
COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST	
Early Drop-Off	June 26 - 30	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00	
Metro's Got Talent  Malcolm McGuire	June 26 - 30	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00	
Camp Disney Kyndal Hostetler	June 26 - 30	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00	
321Blast Off! STEM Camp (Camp Patriot @ Camp Loughridge) Anna Cunningham	June 26 - 30	8:30 AM - 4:30 PM	Ages 6-12	\$260.00	
Young Rembrandts: Magnificient Masters Pastel Drawing Workshop	June 26 - 30	8:30 AM - 11:30 AM	1st-6th Graders	\$100.00	
DIY Extravaganza for Girls  LeAnne Buffington	June 26 - 30	8:30 AM - 11:30 AM	4th-8th Graders (Girls Only)	\$90.00	
CLOSED	June 26 - 30	8:30 AM - 11:30 AM	6th-12th Graders	\$90.00	
Have It Your Waya Creative Writing Camp Sherri Easley	June 26 - 30	8:30 AM - 11:30 AM	6th-12th Graders	\$90.00	
Summer Reading with Pebsworth  Kristin Pebsworth	June 26 - 30	8:30 AM - 11:30 AM	8th Graders	\$90.00	
Purchased Lunch	June 26 - 30	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00	
Gardening 101 Molly Gifford	June 26 - 30	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00	
Up, Up, & Away Kyndal Hostetler	June 26 - 30	12:30 PM - 3:30 PM	K4-5th Graders	\$90.00	
Camp NaNoWriMo Elementary  Kelsey Hendrix	June 26 - 30	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00	
Duct Tape Dynasty  Darlene Syuma	June 26 - 30	12:30 PM - 3:30 PM	3rd-6th Graders	\$90.00	
The Greek Team Sherri Easley	June 26 - 30	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00	
Advanced Robotics  Brian Cunningham	June 26 - 30	12:30 PM - 3:30 PM	6th-12th Graders	\$90.00	

# WEEK 5: JUNE 26 - 30 (CONTINUED)

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Summer Reading with Pebsworth	June 26 - 30	12:30 PM -	8th Graders	\$90.00
Kristin Pebsworth	June 26 - 30	3:30 PM	oth Graders	φο.00 
Lata Diek Lla	June 26 20	3:30 PM -	K4-8th	¢75.00
Late Pick-Up	June 26 - 30	5:30 PM	Graders	\$75.00

### **WEEK 6: JULY 5 - 7**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Patriot Football Camp  Coach McCoy & MCA Coaches	July 5 - 7 (W,R,F)	8:30 AM - 11:30 AM	1st-6th Graders	\$90.00

### **WEEK 7: JULY 10 - 14**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	July 10 - 14	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
Travel the World Thru Books Laura Peek	July 10 - 14	8:30 AM - 11:30 AM	K4-2nd Graders	\$90.00
Paws, Claws, Wings, & Fins: Caring for Pets Phyllis Fields	July 10 - 14	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00
STEM in the Great Outdoors (Camp Patriot @ Camp Loughridge)  Jennifer Allwein	July 10 - 14	8:30 AM - 4:30 PM	Ages 6-12	\$240.00
It's Shocking Suspense Sherri Easley	July 10 - 14	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
Monkey Business An Improv Camp  Abby Phillips	July 10 - 14	8:30 AM - 11:30 PM	9th-12th Graders	\$90.00
Patriot Football Camp Coach McCoy & MCA Coaches	July 12 - 14 (W,R,F)	8:30 AM - 11:30 AM	9th-12th Graders	\$90.00
Purchased Lunch	July 10 - 14	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
It's A Bug's Life <i>Molly Gifford</i>	July 10 - 14	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00
All Things Star Wars Sherri Easley	July 10 - 14	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Songwriting for Kids  Darlene Syuma	July 10 - 14	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Careers in Art Shelia Fields	July 10 - 14	12:30 PM - 3:30 PM	4th-8th Graders	\$100.00
Write It Out: Calligraphy & Handwriting  Anna Katherine Annett	July 10 - 14	12:30 PM - 3:30 PM	6th-12th Graders	\$90.00
Personal Finance (HS Credit)  Robby Davis	July 10 - 21 (Requires Registration for 2 Weeks)	12:30 PM - 4:30 PM	10th-12th Graders	\$395.00

## **WEEK 7: JULY 10 - 14**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Patriot Football Camp	July 12 - 14	1:30 PM -	7th-8th	\$90.00
Coach McCoy & MCA Coaches	(W,R,F)	4:30 PM	Graders	\$90.00
Late Pick-Up	July 10 - 14	3:30 PM -	K4-8th	\$75.00
		5:30 PM	Graders	

#### **WEEK 8: JULY 17 - 21**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	July 17 - 21	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
Paws, Claws, Wings, & Fins: Caring for Pets Phyllis Fields	July 17 - 21	8:30 AM - 11:30 AM	K4-2nd Graders	\$90.00
Camp Holiday Kyndal Hostetler	July 17 - 21	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00
Young Rembrandts: Bits of Summer Art Workshop	July 17 - 21	8:30 AM - 11:30 AM	1st-6th Graders	\$100.00
Travel the World Thru Books  Laura Peek	July 17 - 21	8:30 AM - 11:30 AM	3rd-5th Graders	\$90.00
Operation CLOSED the Bible	July 17 - 21	8:30 AM - 11:30 AM	6th-8th Graders	\$90.00
Film-Making for Beginners  Kelsey Hendrix	July 17 - 21	8:30 AM - 11:30 AM	6th-12th Graders	\$90.00
7th Grade Summer Reading Party  Catharine Siemens	July 17 - 21	8:30 AM - 11:30 AM	7th Graders	\$90.00
Purchased Lunch	July 17 - 21	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
Water World Amanda Humphrey	July 17 - 21	12:30 PM - 3:30 PM	K4-2nd Graders	\$90.00
Hands-On Science Kyndal Hostetler	July 17 - 21	12:30 PM - 3:30 PM	K4-5th Graders	\$90.00
Sign Language Worship  Darlene Syuma	July 17 - 21	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Disney's The Jungle BookKids Drama Camp Week Abby Phillips	July 17 - 21	12:30 PM - 3:30 PM	3rd-8th Graders	\$90.00
When in Rome Sherri Easley	July 17 - 21	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
6th Grade Summer Reading Party  Catharine Siemens	July 17 - 21	12:30 PM - 3:30 PM	7th Graders	\$90.00
Leaders in Training  Claire Yinger	July 17 - 21	12:30 PM - 3:30 PM	9th-12th Graders	\$90.00
Late Pick-Up	July 17 - 21	3:30 PM - 5:30 PM	K4-8th Graders	\$75.00

### **WEEK 9: JULY 24 - 28**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	July 24 - 28	7:30 AM - 8:30 AM	K4-8th Graders	\$50.00
Sporty Sports Kyndal Hostetler	July 24 - 28	8:30 AM - 11:30 AM	K4-5th Graders	\$90.00
American Girls Club Cindy Bristow	July 24 - 28	8:30 AM - 11:30 AM	K4-5th Graders (Girls Only)	\$90.00
Kindergarten Boot Camp Hannah Baskins, Amanda Humphrey, Blair Peters	July 24 - 28	8:30 AM - 11:30 AM	Incoming Kindergarten Students Only	\$90.00
Patriot's Palette <i>Kristen Meyers</i>	July 24 - 28	8:30 AM - 11:30 AM	3rd-6th Graders	\$90.00
Camp NaNoWriMo Secondary Kelsey Hendrix	July 24 - 28	8:30 AM - 11:30 AM	6th-12th Graders	\$90.00
7th Grade Summer Reading Party  Catharine Siemens	July 24 - 28	8:30 AM - 11:30 AM	7th Graders	\$90.00
Purchased Lunch	July 24 - 28	11:30 AM - 12:30 PM	K4-12th Graders	\$30.00
Songwriting with Kids Darlene Syuma	July 24 - 28	12:30 PM - 3:30 PM	K4-2th Graders	\$90.00
Kingdom Identity Claire Yinger	July 24 - 28	12:30 PM - 3:30 PM	3rd-5th Graders	\$90.00
Mysteries of Science Shelia Fields	July 24 - 28	12:30 PM - 3:30 PM	4th-8th Graders	\$90.00
Fables, Folklore, Fairy Tales Sherri Easley	July 24 - 28	12:30 PM - 3:30 PM	6th-8th Graders	\$90.00
6th Grade Summer Reading Party  Catharine Siemens	July 24 - 28	12:30 PM - 3:30 PM	7th Graders	\$90.00
Summer Reading with Pebsworth  Kristin Pebsworth	July 24 - 28	12:30 PM - 3:30 PM	8th Graders	\$90.00
Ready, Set, Apply! <i>Megan Zorch</i>	July 24 - 28	12:30 PM - 3:30 PM	12th Graders	\$125.00
Late Pick-Up	July 24 - 28	3:30 PM - 5:30 PM	K4-8th Graders	\$75.00

### **WEEK 10: JULY 31 - AUGUST 4**

COURSE NAME AND INSTRUCTOR NAME	DATES	TIME	GRADE LEVEL	COST
Early Drop-Off	July 31 -	7:30 AM -	K4-6th	\$50.00
	August 4	8:30 AM	Graders	
Best of Camp Patriot 2017	July 31 -	8:30 AM -	K4-6th	\$90.00
Leann Cherry	August 4	11:30 AM	Graders	\$30.00
Purchased Lunch	July 31 -	11:30 AM -	K4-6th	\$30.00
	August 4	12:30 PM	Graders	\$30.00
Camp Carnival Camaraderie	July 31 -	12:30 PM -	K4-6th	\$90.00
Leann Cherry	August 4	3:30 PM	Graders	\$90.00
Late Pick-Up	July 31 -	3:30 PM -	K4-6th	\$75.00
	August 4	5:30 PM	Graders	\$73.00